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Instructions :

FebaATHTE T TR, GeFa-a G1an |

STET Gebl 7 &l a8l qHt JeAl 3 3K Uh H &1 ford |

Answer all questions in Sanskrit, unless instructions are given otherwise.
T T TR GUel: I |

T UeH-0 H AR @ € |

There are four sections in this question paper.

Tus: ® STATSTATTT — ST (TS — 3TTE ) 15 T
Section A : Unseen Reading Comprehension

L : B T TATCHSRORETH (Thd | TaTHE oia) 15 AT
Section B : Writing Skills in Sanskrit

EiCHl I TSR — ey FEpAQTead =d: = 40 + 10 = 50 JATH:

(TfeaieT — 3TEare U §¥ha Aiiecd uR=d)
Section C : Reading Comprehension & Introduction to

History of Sanskrit Literature

qus: g : PRISAGHN: (B TIH 3TTgHN) 20 AT

Section D : Metres and Figures of Speech
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Gug: & (Section A)
HAUFSATI — FTATEAR
TSI — et

Unseen Reading Comprehension

TG ST=5gd e UaaH TRaM T&had SR |

feAteiEd gt ST ot Tl U 7T ¥HT & 3R §ehd | JIT |

Read the following two passages and answer the given questions in Sanskrit.

=) Wz?ﬂﬂ@?:
TR FET WU} Sfe STofd Fewem STcafesh aod | Sod U JHaFi IR
foh a1 ST STest=, FaRHT =Y 38 o 0 g | AsTa SH: o w2
FUMT H TARM AN I5, ST G0 T To & AFaEy | A% HIHT 76 7 @
dfe Fema sg fore sifaeafa |

e

(37) THTH WA |

)

)

Teh 913 H ST T |

Answer in one word.

(i) TFE IRK T T 2

(i) ‘ufosafa fd R wgus e 2

TUIETRT TR |
quT ST § IR ST |
Answer in a complete sentence.

s STef 7 w1 dfe fo wfersafa 2

TR 3T |

TR I &Y |

Answer as directed.

() o IRRY I F: T ?

(i) wfoETY o fereret feRe 2

(iii) ¥’ T FITHIE R Pl TIFH ?

(iv) ‘“Hewem’ 3T Fd & foRaT 3T Uga 2

3

15 =

Yax2=1

YVaxd4=2
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@) ﬁ?ﬁ'&f:aﬂﬁﬂ‘:
ara: waiT fafaentT afa | geEd we fgiaer watdq | St et = 1 et
[T 9ol T S WhET TR Jeig ST Yol KT | T A T

Mg foegmiees a1 | a SRA=sI- g Helled WeRaT AR a @ SmvearaH . |

STt Hostae | Fafehcened QAo FATag AT Hard, FHara-oet qafd TR =
TUAIT: 29T, Wftd: o W@ | A F hHIGUMT el 7 oo dfe HANAEET JH

o Id U | U h1g ®90T fafehedT MRl 7 ST |

B EEIF

()

)

Q)

THIRT A |

Teh 715 H ST ST |

Answer in one word.

()  emr T Hgent | ?

(i) Tafsear wigel 7 ST 2

UTETRA SR |
U7 AR | IR ST |
Answer in a complete sentence.

Spean o ok o 2

FATRIH WA |

TR 3T AT |

Answer as directed.

(i) T ere ot o ?

(i) SIS A 2

(i) YA T F: G 2

(iv) T I FIAHIR HH T ?

3T SR Fel IUGHRI U WEpel forad |
T T o [0 UG ¥k Wehel | foAf@u |

Write a suitable title for this passage in Sanskrit.

1x2=2

1x4=4



gug: & (Section B) 15 st
TR TAATHEHAETH
HEhd § TS AGT

Writing Skills in Sanskrit

2. oo Sfadaugsha TR STt w R 3: foed | 1x10=10

oSl ¥ 3 Hohd oioht Fefetfad em s quis O fofam |

Complete and rewrite the following story, with the help of the words given in the box
below.

HAT :

TG Gy TS Weed SHE () i U | T e TR -

PO S, AT () (9 7 WS T Serdfyed | STl died 9

(i) T O | UGN HeTel SRR AP oy T T e | T T
T (vi) o T ser | gfuftereg A T (o) T WA W gy |
T T () SO A T ()

HoSTHT

(=N

TR, TS, ST, Hiesa:, Jom:, Jraftewm,

HIAH, T, TS, ST |

3. TSI USRI e HemE= g At aee AR Sk forad | 1x5=5
HoSIT 9§ UK AR WA T I T §&ha | Ui a1 fafa@w |

Write five sentences in Sanskrit on “Prime Minister” with the help of the words given

in the box.

HoSTH T

(=N

TaRTemm, TR, SR, STTIeRHERT, JRTERH, SR |
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gug : T (Section C)
TTSATS — AT HpaHTEae URaa:
TFSATST — AT T Wl WiHeed U=

40 + 10 = 50 AFHT:

Reading Comprehension & Introduction to History of Sanskrit Literature

I'ﬁﬁtlgl', .., \Haﬁ \. ; |

TeAferfae o=, Tt qe A1eaieT P Uy ST T et % S TEhd | I |

Read the following verse, prose and drama passages and answer the given questions

in Sanskrit.

() TEH

AT -SRI ATt A |

AT qTad fagu HH: T T8,

EIE ]
qIT:

()

C))

)

o & UG UcgE: HIgE: |17

THIRATRA |

T I § ST AT |

Answer in one word.

() IRRY 37T & 99 2
(i) fagu = &= 2
TUTETERARA |

T TR | IR IINT |

Answer in a complete sentence.
HIEH W foh Tegere: higer: 2
I IR |

FTRR IR AT |

Answer as directed.

() FER o faemus T 2

(i) ‘Sr=Tvled:” g IS Tl I HaT T ?

Yax2=1
2
1x2=2
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(@) TR

“Te aquuTt WER Tgamst ;| Al e ISTEEHE Ao eaRg ST |
TSI el TSRO S T Sa1 | 3 el el Rifereh! oo,

‘Al I | erRAafaEEr e sier faemae autae 1
qIAT:
(30)

)

()

THIRATRA |

T 31 H 3T AT |
Answer in one word.

(i) TSI STRToT S 3T 2
(i) ST M 3R ?
UIETRARRA |

U7 1R H 3R ST |

Answer in a complete sentence.

ERIGEI RS IERE R CEt
TR 3T |
FNR ST T |

Answer as directed.

() T I faamag 6 2

(ii) “HelE: I F: T ?

ax2=1
2
1x2=2

— T Tl | vieaHe JETIRI Tehed | T T aeEe 2 Todeh S

() e
“OTedl —  SfdSTon SIATERI: T Tt Y gvad ? (o)
2 — U FAREEREAY |
Gk — TR I | AR ST |
e ~ A ?
Ad:
ATl gveAl fHuteoRT TR | 3fs = foaasg=sd [

AT
(3 THUGHRA |

T & H IR T |

Answer in one word.

(i) & TR 2

(i) 379 DG ?

Yax2=1

[ P.T.O.



@)  YoiamERHTRd | 2
quT e B 3R SN |
Answer in a complete sentence.
IR hIgeM: 2
(®) T | 1x2=2
FAIASI I T |
Answer as directed.
(i) “oeEq ste: fRamr g e 2
(i) & e ufeay ?

5. I Betren O forad | Yax4=2
Y131 T 31t O et e g fefe |
Match the words with their meanings and rewrite the same.
IRT: 3T
oMt (i)  gma
@ fogm i) e
@) IR (iii) HHeTAH
@ W (v) S

6. YEEHAIRI YA FAFHAT FHo | 1x4=4
Tgifehd UgT % 3MER W U9 (AT ST |

Frame questions on the basis of underlined words.

() T FaETERME TS |
(i) eIl A |
(iii) ST ZieaurE ;|

. o ida
(1v) T YT TOThITHRI |

49/1 8



7. ITefcRadurarerET: Redemgd JosoIsdeaad $od | %x12=6
ffeiad gt wreret § Ao § KU 0 I1eE) i Ferdar ¥ Rad =M & id i |
Fill in the blanks in the following two explanations with the help of the words given
in the box.
(3T)  “3TAT A o TR 3L THATS STAT: |

A TS i 3 o arcHel ST 117

e
SEH TGy AU T gy FERE gy S A Gy
SHte. e & T oy IOy

@) ot T T Tad Hame i |

FeReRR YT a1 UaTehl & & 117

QTIHT?E:
_°|'7|f[ ?f (1) _\q'r"_vl' (11) - (111) | (IV) A AT hdl :m:\?f, 313
v T () o e T
HosTuT
., TR, A, HER, B, A,
Ifs =, o, Ai, e, T, 1 |
8.  ITHiiEcal: Yellehar: SFagal: Rereyfd $&d | 1%+1%=3

FrAfefad g1t vetient o 3Fadi o e TIMT &t gfd i |

Fill in the blanks in the following prose-order renderings in the two verses.
(37)  “ITICAGITEIAT STRTEI |

i g diRoT 3 Aty 17

T

foemr o w e T a-qd\qaaT@ngﬁrﬂsgq,ﬁ:&
Git) e
@) “AREIRITes FHe @He T 9 |

foRaRT AT FHetad qaasd &: |17
A

RN WH U T g o () (REE S (5
qrArgstd |
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9.  JUI=IM IRA |

Y I BT |

Answer as directed.

(30) s fhaE = Fad | x 4=2
=l wd forams T |
Select the subject and the verb.
(i) UIHTE Q|
(i)  3THHOT T IRRAY 7 UraeATq |

@) foemomg e | 1x2=2
faremoT U3 9T |
Select the adjective.
() TR TSR aqea e |
(i) | UeT TEATad RS |

(@) FFETNETISEHE!: JEhd-Ha-Taus Nl TR 2 1x2=2
ey

o (eSS e

fAfeiad el & Y@iferd-gemug e o ugem € 2

In the following lines for whom are the underlined pronouns used ?
() @ =g 7= ASEFS W |

(i) STUAeH TSI JoT AT HEhdT ¥R |

®) STEfcREauiRTT “HACTH’ T “Hard’ 3 deal: T Is faen foad | 1x2=2
FrfeRad dfermal o e T& el & TaI o GHHE U8 AR oha |

Select and write the synonyms of the words ‘lotus’ and ‘says’ from the
following lines.

() T @ EreEy |

(i) TEETEEANd gl |

@) T T B 9 Vix4=2
Hi {8 FE W/E 2

Who is saying to whom ?

() TEEER ey YREEA AR aaeisT |
(i) S | 3R T A, TR AT T 2

49/1 10



10. (30 SHCIREAEEHHT HEMY THE HEAF AW foad | 1x5=5
ATAEd oiaeh! i {8t Tk ToFT &1 7 farEy |
Write the name of any one work each of the following poets.
RTShTHETEIT:, ShITCIRTH:, STOT:, HERTRIIE, :

(F)  STHTARGAEAAT TRGehHT AT foEd | 1x5=5

TATRad e o T@hi o AT foiay |
Write the names of the authors of the following works.
SARTANTH, ATviieh-2T, FaragIAer, Fremmeasy, Sfaerdes |
gug: q (Section D) 20 FSH:
TRISASHRT:
T T AATHR
Metres and Figures of Speech

11. (30 ¥eH S | 1x2=2

T % 3T T |
Answer the questions.
(i) R 37 I A U1 o TE: AT 2
(i) TR ey feEd 1

(@) STTATGAIRATT: XA | 1x4=4
freferfaa afRemreT i got S |
Complete the following definitions.
() I Ak |
(i) e TSI ;|
(iii) & TEED=T forafeott |
(iv) STSTRET T |

@ TeferEareEErn: 3= 2 1x2=2

oo T

frefetiad dfeaal § - T 9 & 9

What is the metre in the following lines ?

(i) M T AR T BRI 7 TR osae: |
(ii) HITERA A B |

®) UHE S]H: TR foad | 1x2=2
T T I 3T @y |

Write the example of any one of the following metres.

Torafont, gsasT |
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12. (3N FHEATIRHE TSTHHRT FIZTEL0T T-07 forad | 3

TSl Weh TTRTHI T 33TEL0T Al oteful feafau |
Write the definition and example of any one of the following figures of speech.
ST, T |

@)  FATAREATAGHRE HEE0T A0} T | 3
Tordl T STHCTS®HR 1 SAE0T Wied ool faray |
Define and illustrate any one of the following figures of speech.
FIHH, SHET |

(@) STRAUGHAr FAHN R | 1x2=2
fefefiaa diemal o srergsRr FRw S |
Indicate the figures of speech in the following lines.
() T T I "G 9 o
(i) o e forgearsmIiRot TuTeTe: TREmE Twg; |

@) SrEfeRaqueTSTE R | 1x2=2
Fretferfiae 2T oA 9O A |

Complete the following two definitions of the figures of speech.
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